



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section D, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC204					CSC-303					CSC304					CSC-405					CSC-503				
		Linear Algebra					Theory of Automata & Formal Languages					Object Oriented Programming					Digital Logic Design					Advanced Database Systems					Artificial Intelligence				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0066	Ishfaque Ahmed	17	F	-	3	-	20	F	-	3	-	-	-	-	-	20	F	-	3	-	33	F	-	3	-	36	F	-	3	-	
B.S CS SP-2024-M-C-0155	Mohammad Saran Khan	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	62	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0201	Alishwa Gul	65	C+	2.5	3	7.5	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	17	F	-	3	-	
B.S CS SP-2024-M-D-0202	Anees Abbasi	57	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	71	B	3.0	3	9.0	
B.S CS SP-2024-M-D-0203	Haleema Bibi	80	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	75	B+	3.5	3	10.5	78	B+	3.5	3	10.5	
B.S CS SP-2024-M-D-0204	Hasnain Muhammad	55	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	62	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0206	Humamah Khalid	50	D	1.5	3	4.5	31	F	-	3	-	9	F	-	4	-	-	-	-	-	45	F	-	3	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0208	Ibrahim Khalil	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	51	D	1.5	3	4.5	64	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0209	Izhar Habib	55	C	2.0	3	6.0	23	F	-	3	-	-	-	-	-	-	-	-	-	-	50	D	1.5	3	4.5	51	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0210	Javariya Naveed	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	64	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0211	Laiba	65	C+	2.5	3	7.5	92	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	82	A	4.0	3	12.0	91	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0213	Malik Muhammad Sameer	16	F	-	3	-	24	F	-	3	-	-	-	-	-	-	-	-	-	-	39	F	-	3	-	50	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0214	Matee Ullah	60	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	79	B+	3.5	3	10.5	
B.S CS SP-2024-M-D-0215	Muhammad Asad Anwar	55	C	2.0	3	6.0	55	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	72	B	3.0	3	9.0	
B.S CS SP-2024-M-D-0217	Muhammad Hammad Khan	56	C	2.0	3	6.0	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	72	B	3.0	3	9.0	70	B	3.0	3	9.0	
B.S CS SP-2024-M-D-0218	Muhammad Haseeb	17	F	-	3	-	40	F	-	3	-	-	-	-	-	51	D	1.5	3	4.5	57	C	2.0	3	6.0	52	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0219	Muhammad Hashir Tareen	55	C	2.0	3	6.0	22	F	-	3	-	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	59	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0220	Muhammad Hassan	29	F	-	3	-	26	F	-	3	-	-	-	-	-	-	-	-	-	-	40	F	-	3	-	30	F	-	3	-	
B.S CS SP-2024-M-D-0222	Muhammad Zain Anwaar	55	C	2.0	3	6.0	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	82	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0223	Muneeb Ur Rehman	50	D	1.5	3	4.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	52	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0226	Rizwan Ali Mehmoodi	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	61	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0227	Robina Zahid	60	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	80	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0228	Sahar Saeed	55	C	2.0	3	6.0	65	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	66	C+	2.5	3	7.5	
B.S CS SP-2024-M-D-0229	Saleem Ullah	62	C	2.0	3	6.0	86	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	76	B+	3.5	3	10.5	
B.S CS SP-2024-M-D-0230	Seeman Ziad Choudhary	65	C+	2.5	3	7.5	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	66	C+	2.5	3	7.5	62	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0231	Shayan Ali	22	F	-	3	-	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	67	C+	2.5	3	7.5	68	C+	2.5	3	7.5	
B.S CS SP-2024-M-D-0232	Sohail Nadeem	50	D	1.5	3	4.5	37	F	-	3	-	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	54	D	1.5	3	4.5	
B.S CS SP-2024-M-D-0233	Soian Arshad	62	C	2.0	3	6.0	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	77	B+	3.5	3	10.5	72	B	3.0	3	9.0	
B.S CS SP-2024-M-D-0234	Sulaiman Abdullah	25	F	-	3	-	25	F	-	3	-	-	-	-	-	-	-	-	-	-	40	F	-	3	-	28	F	-	3	-	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section D, Morning, Session Autumn 2025

		CSC-504					GE266					HUM 304					SSC 303				
		Web Technologies					Islamic Studies / Ethics					Expository Writing					Operating Systems				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS Aut-2023-M-A-0066	Ishfaque Ahmed	50	D	1.5	3	4.5	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	
B.S CS SP-2024-M-C-0155	Mohammad Saran Khan	73	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0201	Alishwa Gul	81	A	4.0	3	12.0	-	-	-	-	80	A	4.0	3	12.0	88	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0202	Anees Abbasi	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	89	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0203	Haleema Bibi	83	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	93	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0204	Hasnain Muhammad	69	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0206	Humamah Khalid	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0208	Ibrahim Khalil	70	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	88	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0209	Izhar Habib	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0210	Javariya Naveed	82	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	93	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0211	Laiba	98	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	97	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0213	Malik Muhammad Sameer	58	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	81	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0214	Matee Ullah	84	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	94	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0215	Muhammad Asad Anwar	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0217	Muhammad Hammad Khan	74	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0218	Muhammad Haseeb	56	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0219	Muhammad Hashir Tareen	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0220	Muhammad Hassan	65	C+	2.5	3	7.5	65	C+	2.5	2	5.0	-	-	-	-	84	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0222	Muhammad Zain Anwaar	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	80	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0223	Muneeb Ur Rehman	72	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	92	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0226	Rizwan Ali Mehmoodi	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0227	Robina Zahid	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	83	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0228	Sahar Saeed	67	C+	2.5	3	7.5	-	-	-	-	-	-	-	-	-	84	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0229	Saleem Ullah	80	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	85	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0230	Seeman Ziad Choudhary	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0231	Shayan Ali	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	93	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0232	Sohail Nadeem	61	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	87	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0233	Soian Arshad	77	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	92	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0234	Sulaiman Abdullah	76	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	70	B	3.0	3	9.0	

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD

B.S (Computer Science) 4th Semester, Section D, Morning, Session Autumn 2025

Registration #	Name	CSC 210-7					CSC204					CSC-303					CSC304					CSC-405					CSC-503				
		Linear Algebra					Theory of Automata & Formal Languages					Object Oriented Programming					Digital Logic Design					Advanced Database Systems					Artificial Intelligence				
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-D-0235	Syed Daim Ali Bukhari	65	C+	2.5	3	7.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	55	C	2.0	3	6.0	72	B	3.0	3	9.0	
B.S CS SP-2024-M-D-0236	Syed Meesum Ali	55	C	2.0	3	6.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	71	B	3.0	3	9.0	62	C	2.0	3	6.0	
B.S CS SP-2024-M-D-0237	Syed Shamir Haider	50	D	1.5	3	4.5	60	C	2.0	3	6.0	-	-	-	-	-	-	-	-	-	52	D	1.5	3	4.5	74	B	3.0	3	9.0	
B.S CS SP-2024-M-D-0238	Syeda Eman Fatima	80	A	4.0	3	12.0	90	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	82	A	4.0	3	12.0	
B.S CS SP-2024-M-D-0239	Zeenat Mubeen	82	A	4.0	3	12.0	75	B+	3.5	3	10.5	-	-	-	-	-	-	-	-	-	76	B+	3.5	3	10.5	82	A	4.0	3	12.0	

CC: 1. Incharge Islamabad Campus, 2. Controller of Exams, Karachi, 3. HOD, 4. Accounts Section, 5. Office File, 6. Notice Board

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026



FEDERAL URDU UNIVERSITY OF ARTS, SCIENCE & TECHNOLOGY, ISLAMABAD
B.S (Computer Science) 4th Semester, Section D, Morning, Session Autumn 2025

		CSC-504					GE266					HUM 304					SSC 303														
		Web Technologies					Islamic Studies / Ethics					Expository Writing					Operating Systems														
		Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product	Obtained	Grade	GP	Credits	Product
B.S CS SP-2024-M-D-0235	Syed Daim Ali Bukhari	71	B	3.0	3	9.0	-	-	-	-	-	-	-	-	-	-	86	A	4.0	3	12.0										
B.S CS SP-2024-M-D-0236	Syed Meesum Ali	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	93	A	4.0	3	12.0										
B.S CS SP-2024-M-D-0237	Syed Shamir Haider	81	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	92	A	4.0	3	12.0										
B.S CS SP-2024-M-D-0238	Syeda Eman Fatima	85	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	94	A	4.0	3	12.0										
B.S CS SP-2024-M-D-0239	Zeenat Mubeen	91	A	4.0	3	12.0	-	-	-	-	-	-	-	-	-	-	91	A	4.0	3	12.0										

Errors and omissions excepted. University has right to revise the results.

Prepared By: _____

Checked By: _____

Rechecked By: _____

Superintendent

Asst. Controller of Exams

Ghayyas ud Din
Controller of Exams

Result declaration date: 23/02/2026